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(For Hearing Impaired Children)
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

o

-6 P p. X
49 49 -49 16
(ii) The base of ( p —6)3 is:
A. 3 B. P c. p—6 D. -6
(iif) Factorization of x* + x—6 is:
A (x-2x+3) B (x+2)(x+3) ¢ {(x-3)(x-2) D (x-3)(x+2)
(iv) x'=
A X B. 0 C. 1 D. l
X

() Multiplicative inverse of /67 is:

1 1 !
—— B. —— C. 67 D. (67)>
V67 J67
(vi) One and only line can pass through:
A One Point B. Two peints C. Three points  D. Four points
3
(vii) Order of l:l} is:
A 1x2 B. 2x1 C. 2x?2 D. 1x1
1 | ’
(wviii) [x y] {2}—
A [x+2y] B. [x+3y] C. [2x+y] D. [2x+3y]
(ix) What will be added to 9a —12ab to make it a complete square?
A ~164° B. 16b° C. 45’ D. 26
) (7-2)07+2)=
A 48 B. 36 C. 6 D. 45
{(xi) Degree of the expression x3yz2 is:
A 5 B. 7 C. 6 D. 1
2.2
iy XY o
3xy
A 9x”y’ B. 6x°y° C. x'y’ D. xy
(i) If p(x)=x"+x"—2,and x =1, find the value of p(x)=
A -2 B. 2 C. 0 D. 1
xiv)  (x"Y'=
A xm+n B. xm/n c xm—n D. mn
(xv)  Scientific notation of 1000 is:
A 107 B 10° c L D. _
10 10
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MATHEMATICS SSC-I|
(For Hearing Impaired Children)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 36)

Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=236)
) 55 2 3 !
(i) if A= ,B= then find A-B
4 9 1 4
(ii) Find H.C.F by factorization 16a°b", 484°h", 80a’p’
3 7
(iii) {2 2} find the number of rows and columns. Also find their orders.
(iv) Describe properties of the Peint.
(V) Factorize x” +1
(vi) x* —=2x? +3x -3 is divided by x — 4. Find the remainder by using Remainder theorem.

(vi)y  Find the value of x* + y*, when x—y=8and xy=-15

(viiy  Simplify (x” —19x =30) =+ (x+3)

(ix) Subtract P from Qwhen P =3x"+5x> +2x" —x, Q=4x" +2x" + x" ~x+1
(x) Use the formula to find product of {x +1(x* +D{x - D(x* +1)

(xi) Factorize (ax+by) + (bx—ay)’

(xii) Write in scientific notation: 0.0000666

(xiil) Write the following equation in ascending order w.r.t the variable y.

4xy’ =37y +2x7y 4 x4yt

{xiv)  Simplify and write the answer in positive exponent mﬁ

m -n
{xv) Simplify fi
100

(xvi)  Rationalize the denominators of the following:

% —

3

(xvii)  FP(y) :LJrzy2 —1, find P(-2)
2y
(xviii) Factorize: 27/° —8m’ — 72Im — 64

SECTION - C (Marks 24)

Note: Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

Q.3 Construct angle measures with the help of Scale and Compass 120°
Q.4 Constructtriangle ABC, when AB =3.6cm, mBC =3.9cmand L4 =90°
Q.5 Add @’ +2d°-6a+7, & +2a+5, 2d° +2a-a* -8

Q.6  Construct Axyzin which m2/x=120°, m£y =30°, and xz = 6cm
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